51 H /N =t 4@ L 4B 40 /s _ Ee
FIHIEREARXFENACIE, ISR/ U—F 20141228 EARHET RS

E3E 28 EIE FAH 55 6 EE ELE] ELEN F 1087 a5t
i K% FE 98288 10H26H 11H308 12A28H 1A258 28228 38298 478268 58318 6528H = 5
No IBRIP | R | JEGIP | Fe | NBRIP | RA | JEGP | R | JEGP | FRR | JBLP | FRA | IBRIP | B | NERIP | R | JEGP | RA | IBEIP | R | IBRIP | R B
107|580 G228 BAREMREHSE A5/30X 22 | 1,661 2111795 8| 1262 221,719 73 6437| 4
131|EMA FE HARFAEHE 14| 1564 81382 13| 953 81,368 43 5267 | 4
110[+id #F HAREHREHGS AR 10 | 1554 6| 1258 211,098 5| 1,169 42 5079 | 4
135|#HR EE HARFAE TGS 2| 983 711337 17 | 1.395 9| 1455 35 5170 | 4
139|8TE AN HARFAEHE 18 | 1,580 0 0 6| 1588 9| 1.459 33 4,627 3
T8|ER HARBEHREHS RIILS 7] 1288 8 [ 1,505 3| 1719 14 | 1,594 32 6106 | 4
108|FE WY HARFAE TGS 9| 1462 8 [ 1,509 7] 1302 81395 32 5668 | 4
138|ETEEEE HARFZAEHE 41140 4[1.126 4[1275 18 | 1,615 30 5156 | 4
19[+E E+ BARBEHREHS RIILS 91438 6 | 1.260 5| 979 9| 1,456 29 5133 4
136|HM &A HEARFAEHE 5] 1,194 13 | 1,559 1]1.381 71302 26 5436 | 4
134EkE  f2ED RRBREEMBETR 6| 1262 17 | 1,697 1] 1455 0 0 24 4414 3
1R2|RE EE BAREAE RS BEFEAE 5| 1209 2| 956 7] 999 9| 1,500 23 4664 | 4
123[8RE %LF BARBEREHS RIILS 1] 498 8 [ 1498 5] 1322 8 [ 1,429 22 4747 4
128[ %1% A HARBEREHS BHLENE 5] 1198 4[1073 7]1018 6| 1.268 22 4557 4
137|Hp ¥ HARFZAEHE 4[1111 3| 1,006 8| 873 71349 22 4339 4
125(fE EHF BARBEREGS RIILS 8 [ 1430 7] 1366 0 0 71322 22 4,118 3
120|$REXEF HARBEHREHS RIILS 7] 1299 6 | 1258 61117 2| 939 21 4613| 4
104t EE HEARFZAEHE 8 [ 1,351 1] 865 8[1.176 41,098 21 4490 | 4
4R R BAREEEHE HTLIELTROS 2| 900 5| 1,184 9| 1,456 41117 20 4657 4
103| IS %1 BAREMREHE A5/33X 61,217 5] 1,163 6| 757 3] 1,058 20 4195( 4
115[B%iR 55 BAREEEGHE HTLIELTROS 7]1313 0 0 4| 1594 6| 1,262 17 4,169 3
101|HA  HEg BAREREHS T4 b 9| 1,509 3] 1012 3] 1,272 0 0 15 3,793 3
130[FA IEE HARFAEHE 711297 6| 1282 2| 790 0 0 15 3,369 3
116|#0%F X8 BAREEEHE HTLIELTROS 0 0 9| 1529 0 0 6| 1275 15 2804| 2
124183 E BARBEHREHS RIILS 8 [ 1404 0 0 0 0 71.290 15 2694 | 2
106|HE ¥ HARFAE TGS 5| 1,157 2| 978 2| 939 51176 14 4250 | 4
2|/E & HARFAEHE 6| 1282 0 0 3] 1058 51189 14 3,529 3
122148 ¥ BARBEREGS RIILS 6| 1275 0 0 81101 0 0 14 2,376 2
= REF HAREMEHGS AR 3] 1076 1] 853 5] 1368 411,101 13 4398 | 4
109|858 BF HAREHREHS AR 4[1.110 1] 807 7] 1,109 1] 700 13 3726 | 4
142 iR F0F HARFZAEHE 3] 1,104 0 0 0 0 10 | 1,588 13 2,692 2
145(1LO 3RAA BAREHREHS HAS 0 0 71287 4[ 700 1] 757 12 2744| 3
144148k # HARFZAEHE 0 0 71347 0 0 5| 1.259 12 2,606 2
17| KB JEF HAREMREHGS AR 1] 694 2| 969 4| 1456 3]1018 10 4137 4
143 F XF BARBEREGS RIILS 4[1.119 2| 946 3] 1349 0 0 9 3414 3
141880 &F BARBEREGS RIILS 3| 1049 41107 0 0 2| 953 9 3,109 3
140|548 KBh BAREREHSE A5/30X 1] 708 3] 1,041 5] 1,189 0 0 9 2,938 3
148|152k 45F BAREREHE 0 0 0 0 0 0 8| 1.381 8 1,381 1
133 =% H— HARERTHE 8 [ 1357 0 0 0 0 0 0 8 1,357 1
S M= HAREHREGS RILS 2| 919 3| 1026 1] 707 1] 707 7 3359 | 4
3(#t = BAREEEHE HTLIELTROS 0 0 5] 1,195 0 0 2| 873 7 2,068 2
14932 K& HARFZAEHE 0 0 0 0 0 0 6| 1.272 6 1272 1
129|HEVAF HARBEREHE BHLENE 1] 748 1] 717 1] 1,169 2| 790 5 3424 | 4
102|i% B HARBRHREGS K 2| 956 0 0 0 0 3| 999 5 1,955 2
126[ %% (=% BAREREHS T4 b 0 0 5] 1,144 0 0 0 0 5 1,144 1
146|7k% E#HF |BARBRREHS 0 0 0 0 2| 620 1] 620 3 1240 2
14758 5F BARBAEHE 0 0 0 0 21 1268 0 0 2 1,268 1
997[RZYTA (BERT) 31,077 411,103 6 [ 1,500 411,109 17 4789 4
998|242y 7B (BERT) 9| 1,447 0 0 0 0 3| 979 12 2,426 2
999|R2v7C (BERT) 0 0 0 0 0 0 0 o] o




